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CATEGORY -III
PART - 3

Physical Science
Question Numbers 71 to 150

71, What is the unit of self-inductance 7
(B]{.-" ohm
(C) farad
D) tesla

72, Aball of mass 500 g has 800 ] of total energy
at a height of 10 m. Assuming no energy
loss, how much energy does it possess at a

height of 5m? B \,13 o_i,;_"

{A) 200]

B{r 00 \@D/\a( s
! ' by

¢ I ¢ A

C) 600 ]

Which of the following are exothermic
reactions ?

)

(i) formation of methane from nitrogen
and hydrogen at 500°C

73.

neutralisation reaction between acid
and alkali

(i

dissolution of NH,Cl in water
9 (iv) decomposition of potassium chlorate
(A)
)/
(C) (5) and (i)

(D) (i) and (i)

714

(i) and (iv)

(i) and (i)

74. The process used for the production of
sulphuric acid :

(A) Lead chamber process

(B) Haber process
(C) Deacon process

{[)L/Snl\fay process

75. The gravitational force on the lunar surface
is approximately 1/6 times that of the Earth. |
(g=10 ms~?). If an object of mass 12 kg in \“\-}ﬁ
earth is taken to the surface of the Moon,  “s
what will be it¢ weight at the moon’s \é

surface 7 :‘r" )
(A) 12N 4 é}(j
(B) ¢ /
(€) 120N N
(D) 2N W
&
2

76. A circular coil carrying a current [ has radius
R and number of turns N. If all the three,
i.e. the current |, radius R and number of
turns N are doubled, then, magnetic field at
its centre becomes :

(A)  One fourth Jg_,é ¥
o
(B) Half O i ’?(f
{Cf Four times &,
sk" 1)
3 A

77. Which of the following
wving | i ight i
the odd one out ? Gl et

| (A) Magenta and green

(B) Cyan and red
(C)  Yellow and blue

{?j/ Cyan and blue

78.  Which of the following sojut
oluti
same concentration ? g

() 4 gof NaOH in 250 mL of solution
(i) 0.5 mol of KCl in 250 mL of solution
(ili) 40 g of NaOH in 250 m_ of solution
(iv) 5.61 g of KOH in 250 mL of solution
(4) (@) and (iv)
® @ and (ii)

(C) (i) and (iv)

(D) (@) and (i)

79.  Two sound waves A and B have same
amplitude and same wave pattern, but their
frequencies are 60 Hz and 120 Hz
respectively, then :

(A) A will be shriller and B will be grave

| (B) A will be grave and B wil be shriller

(C) A will differ in quality than B

(D) A is louder than B

714 4

B

B0. An object of mass 8.5 kg is kept on a level
surface. On applying a force of 60 N, the
object moves 12 m in the direction of the
force. Calculate the quantity of work done.

@t
(A) 1027 Mo
.’.‘H
(B)/ 720 ] . 3
(O]9
© 60 SO0 XN
(D) 5107 ’@qh o
~ T e
i £, o (,(.\r \9;;
81, Among halogens, the correct order of
electron gain enthalpy is : ¥
(A) F>CI>Br>! r
r ,,‘wé

(B) F<Cl<Br>1 L

(C) F<C>Br>1
}Di' F<Cl<Br<l

82. _The number of carbon atoms in 10 g CaCOy
is:

(A) 6.022x1p2

{B} 6.022 % 1021
(©) /6022102
(p{ 6.022 x 102

83.  Which of the followin
character ? B e ey

(4) CsCl

(B) Ll

©
D)

NaCl

KCi
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Which among the following is an amphoteric
oxide 7

(A) NaO
B Cal
(C) NO

D ALO,

85.

.1

7

Which statement correctly describes the
waorking of a loudspeaker ?

(A) Electromagnetic induction principle,
converting sound to electrical energy

(B Electro netic induction prim‘iplu,

converting electricity to sound energy

7.

Heat capacity of a hescly 19

(A} the energy needed to melt the body

without the change in its temperature

]

Code: A

By the energy needed to raise the
temperature of the body by 1'C

(C) Motor principle, converting electrical

energy to sound energy

(D) Motor princple, converting sound to

electricity

Maximum amount of a solid solute that can
be dissolved in a specified amount of a given
liguid sulvent does not depend upon

(A} MNature of solute

(1) Pressure

() Mature of solyvent

(D) Temperature

14

BB.

(C)  the increass in the volume of the body

s e
when its temperature increases by "C

(D} the total amount of mbernal eneryy

that is constant

Which of the following statements s correct

regarding Semwconducto

(A)  Netype senuconductor has a maenty

of holes

(B) Lo convert 4 puee semicoruducton W

a Ity pe senuconductor, Phosphiorus

is usend as a dopant

w

b Do the vy band dugram ot 4 aetal

(L
the urbisbden bund s abseot

(1) The pesistance of a sencondudtor
LI Eeases with L Teasing

empreratue

89.

90.

(A

A light beam passing through three
mediums P, Q and R is given, by Dbst‘rvi.ng
the figure, find out the correct statement
related to the optical density of the mediums,

o
| Q

L ; R

(A) P>Q>R

[EJ; R>Q>P

(€ Q=P>R

(D) R>P>Q

_Fuur statements are given regarding the
image formed by a concave lens. Find the
correct statement(s),

(1) Diminished and inverted

(2) Diminished and virtual
(SJ/ Enlarged and virtual

(4) Diminished and erect

First statement only is correct

(B) Second statement only is correct

(C) Second and fourth stalements gre

correct

714

(D) Third statement only is correct

9.

92.

93,

The IUPAC
C:I;COCH{HCOOH is ;

(

(B) 1-hydroxypent-2-en-1, 4-dione

name of

1-hydroxypentane-1, 4-dione

(C)  4-oxopent-2-encic acid

(D) 4-oxopentanoic acid

Malch the types of colloidal systems given
in Column I with the name given in
Column IL
Column I
{)  Solid in liquic
(if)  Liguidin solid

(i) Liquid in liqui

(iv) Gasin liquid

9f @0 @0, (-4a), (140
B (H, @), (-G, (v)-o)
(€ (i-(a)s ({10)-{b), (ii}-(c). (iv)-(d)

Oy (i), (ii)-(c). (ii)-(a), (iv)-(b)

Which of the following method is used to
purify a liquid that decomposes at its boiling
point 7

(A} Crystallisation

(B)  Differential extraction

() Fractional distillation

(D) Distillation under reduced Ppressure

A
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o4, What type of miror produces a 98 Anabject of mass 10 kg is allowed to fall to 02. Which of the following statements are 104, The pH of 10-2 M H,50, is :
magnification of +1 2 the ground from a height of 20 m. How long " et o Cuthode says 7
4 3 . -
— will it take to reach the ground ? (i) Cathode rays consist (mf negatively
(4 i i charged particles,
T (p=10 ms %) . . B 7
(B Concave mirror ' l"/r'j 1/ (i) They are undeflected by ElECtlh{and
(A} 1s « ; ,g’ ic fi 7
{0} Convex mirror \;—U r_f magnetic fields. € 17 o
. N By 2 i Yo/ (iii) The characteristics of cathode rays do )' [D/}/ 1
T one of these - [
(D) None of these e i/ not depend upon the material of
electrodes
Dy 4=

95. If a person's near point is 25 em (normal)
Tut their far point is not infinity, what defect
does this indicate ? i

Which method demonstrates electrostatic

induction ?

A1 No defect
(A 5 (A

(B)  Myopia (near sightedness) |

(B)
(C) Hypermetropia (far sightedness)

Rubbing a balloon on hair

Touching a charged sphere to a neutral

sphere

(D} Presbyopia (<)

Bringing a charged rod near a neutral

metal rod

D
96.  Which of the following is the pure form of ( }‘
carbon 7
(A) diamond
(B) coal (A)

() graphite

Connecting a battery to a circuit

100, Which factor affects the loudness of sound

Frequency

IS mplitude

(D} fullerence () Wavelength
(D) Puch
97, Which of the following is the densest metal
on Earth 7 0L The spherical shape of rain-drop is due to
(A) I'b (A} gravity
115 atmwsphenic pressure
<y w (8 ] surhace tension
Dy n (D) viscosity
714 7

(v} The characteristics of cathode r%js
depend upon the nature of the gas
present in the cathode ray tube.,

(A),7 (i) and (iv)

(Eé ii) and (i)

(C)/ (i) and (i)

(D) (i) and (i)

103. Analyse the follnwing statements and
choose the correct option.

Statement [: A isotopes of a given

element show the same
type  of
behaviour,

chemical
Statement I The chemical Pproperties of
an atom are controlled by
the number of electrons in

the atom

(A)  Both Statement 1 and Statement Mare
true and Statement I is the correct
explanation of A,

0 atement I and Statement 11 are
true but Statement I1 is not the correct
explanation of A,

(C) Statement I is true but Statement I is
false.

(D) Both Statement I and Statement 11 are
false.

714

105. Which of the following is not a homogeneous
mixture ?

| (A} ice cubes in soft drink

(B) /’ steel
(C) brine

(D} vinegar

106. Which of the following element can be
involved in pr-prr bonding ?

(A) hydrogen

(B) _lithium

3/

() carbon { éj g’

rylium ¥ )
g g; {” &J

107. A gun of mass 10 kg fires a bullet of mass

0.05 kg with a muzzle velocity of 500 mfs.
What is the recoil velocity of the gun ?

(A) 5m/s

D
{B) 0.25m/s ;:f’? éﬂ dﬁ j
© 2mys of B MY

& o
(D) 25mfs n o g }’
3 s
W ol
e > A
= <L -ﬁ{
1}3 r
f y
. n'& L }h:}_
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. When a body vibrates under periodic force

1" the vibration of the body is always ¢ |

111. Which of the following forms an acidic
solution on hydrolysis ?

(A} At the same frequency as the periadic
force

(A) CH4COONa

f 4
L-BU At twice the frequency of the periodic

force

(C) At half the frequency of the periodic
force

o [“de}\e’nl']t‘nl of the fr(‘qupnc_\r of the

periodic force

109. What does SONAR stand for ?
(&) Sound Navigation And Radar

(B) Sound Navigation And Ranging I

(C) Sound Navigation And Response
(D) Sound Navigation And Reflection

110, Assertion and Reason related to magnetic
lines of force are given below.
Assertion : Magnetic lines of force do not
intersect each other.

At the point of intersection, the
magnetic field will have two
directions.

Reason :

Choose the correct option

{A) Both Assertion and Reason are
correct, and Reason is the correct

explanation for Assertion.

(B) Both Assertion and Reason are
correct, but Reason is not the correct
explanation for Assertion.

(C)  Assertion is true and Reason is false

(D) Assertion is false and Reason is true.

714

(8 NHC
(€ Kcl
(D) CH,COOK

112. Which of the following is the most abundant
element in the Universe ?

(A) Helium
(B) Carbon
{L}/ Nitrogen

(D) Hydrogen

113. Which of the following species has an odd
electron octet ?

(A) boron trifluoride

(B) nitrogen monoxide

(C) phosphorus pentachloride
(D) sulphur hexafluoride

114. Which of the following metals can displace
hydrogen from mineral acids ?

i) Ag
i) Zn
(i) Mg
(iv) Cu

(A) (i) and (iv)
(B) (i) and (i)
() (u) and (i)
) (i) and ()

115. What happens when a ferromagnetic

116.

( 4000 N

117,

material is heated above its Curie
temperature ?

(A) It becomes diamagnetic

(B) It becomes paramagnetic

(C) Itloses its magnetic properties

(D) Its magnetic properties increase

A cylindrical object with a density of
08 g/cm” is partially submerged in water
If the volume of object is 0.5 m®, what is the
magnitude of the buoyant force acting on

it? 7
,Er/ > A/)

(B) 4500 N (\_(rr o/ ¢

(C) 4900 N

(D) 5000 N

Which of the following changes decrease the
vapour pressure of water kept in a sealed
vessel 7

(i) | adding salt to water

(i decreasing the temperature of water

(iii) decreasing the volume of the vessel to
one-third

(ﬁ"] decreasing the quantity of water
(A) (i) and (i)

A
[ (B) {()and{m) |

714

(C) (iii) and (iv)

(D) (i) and (i)

10

A i tatements about th
8. Which of the following Stael i
¥ motion of an object on which unbalancey

forceg act is false 7 .

(P / The object could continue moving o
constant speed in a straight line,

(I# The object could accelerate.

(C)ff The object could slow down.

(D) | The object could change the directigy
J in which it is moving.

119. Two resistors, 15 £2 and 10 {2, are connected
in parallel across a 6 V battery. What is the
current flowing through the 15 € resistor ?

[
(A) 04A | sy Yy
P er g
® 1A T/, ‘; "
o » 3 N
H (O 06A by o q.%f*’_
2, .
/2 (D) 254 LT ‘@,’ﬂ'
:/\- ﬁ( [Vl
~ e b
120, Which of the following optio 4 does not

represent ground state
configuration of an atom ?

electronic
(A) 1% 267 2p6 352 3p6 398452
g
(B) 1s22s2 2pb 352 3pb 3d9 462
() 1s% 257 2pP 362 3p6 3410 451
(D) 152252 2ph 352 3pb 3d5 41

121. If a teacher faces difficul
Appropriate learning e
lesson, which among the
most helpful for the teach,

ty in identifying
Xperiences for a
following yyil] pe

er ?
(A) Hand book
B)  Text book
(C)  Work book

(D) SUPPkmemary reader
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o2, Validity refers to the extent to whicha test : 126, Which ancient Indian lext?(lis(‘usses concepts 130, ::1];- ,_]I:-f;:;:i ;L ;:.H?—hhm },g{zsdgmd?ms in 134 Vallue Ip_ointfsl are used to reduce the
(A) measures what it does measure related to atomic theory ! o : o i subjecuwty of
B, is consistent over time (A) Rig Veda ) during and before the activity I (A) ,Essay type questions
Ec:]; s free from bias (B) Upanishads (B)  before and after the activity (B)/ Multiple choice questions
(D) measures what it is intended to (C) Charaka Samhita (€) during and after the activity | (C) Sentence completion questions
' easure (D) Vaisheshika Sutra (D) after the activity D) Objecﬁwl type questions

131. Which of the followin,

123. Whichamong the following is an example opriate one. Which of g is a progressive  135. Ifachemicalspills on your skin, immediag,
¥

127. Choose the most appr

for fact ? the following ensures experiential curriculum approach 7 you should :
(4y Metals conduct electricity learning ? (A) . Constructivist approach (A) Rubit off
JB)  Acids change blue litmus to red () Lechmt et (B)J Behaviourist approach (B) Rinse the affected area with plenty of
{é, Water boils at hundred degree (B) Cooperative learning (C) Traditional approach water
" centigrade (C) Textbook-based learning (D) Teacher-centereq approach (L} Apply available ointment to the

(D) Energy is the capacity to do work D) Feld wips ' affected area
(D)

132. Logical Ignore it and continue with the
124. In a classroom, teacher first provides _ i e : luda _aspect of scientific method experiment
cxamplesuf:heconmptsm;)lemachineand 128. Which of the following ?15 not a key es:
then helps students to arrive at its definition. component of a lesson plan 7 .

A) Observati
The method used by the teacher is : ¢a) servation

[0 St s |
@) (B) Sampling

136. Identify the odd one.

(A) Pure Discovery method - — (A) Chaining
(B) Learning objectives = .

(B) Inductive method _ (C)  Synthesis (B) Verbal association
(C) Assessment strategies

€} Teopenmedind o (D) Experiment (©)  Generalisation
(D) Curricular objectives

(0 Deductive method ) Concep{ o .

133. Remedial teaching i
129. Which of the following is not a characteristic | ing is designed to;

125. Fog index of a science textbook represents :
5 F of a constructivist classroom ? (_,ﬂ}

137.
its - 37. To overcome the chaly

Punish students for poor performance development, it is jm s o proleasiond

(A) Readability () Bhubscenierad Joiilog (B)  Accelerate the learning of gifted (A)  Rely solely on :ogi.ta.m o
(B)  Adaptability (B)  Rot memorization students B e a' itional methads
(€} Accuracy (€)  Collaborative learning (©)  Ignore the individual needs of students mmoiwisnovauve TP
(B ety (P} Inquiry-based learning ®) E;::;‘::ds:tzgmt to academically (©) Tgnore the negs of teachers
714 1 A o (P) Discourage collaborggion ang sharing
714

12
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142, Students were able to explain the (torzi:}::‘;\ﬁ
[nertia at the end of @ class. Theinst i
objective attained by the students 15 :

a4, Which of the following is not a science
== process skill according

to Yager's
Taxonomy 7

(A) Observing (A) Application

(B) Classifying (B) Anlysis

Memorizin 7
(C) £l g (C}_,"‘l Understanding

D) Inferring,
(D) Evaluate

139, Formative assessment does not include :

143. Professional development of teachers should
be viewed asa :

(A) One-time event

(B) Continuous process

(A) Unit tests
(B) Assignments
(C) Projects

(D) Annual Examination

(C) Waste of time and resources

i chi
140. A setof fundamental courses that all students (D) Barrier to classroom tea ng

are required to takein order to grladuabe from

a particular school or program is :

144, While teaching ‘force’ using Concept
Attainment Model, teacher presents the
following exemplars.

(A) Non-formal curriculum

(B) Core curriculum

(C) Hidden curriculum (i) ing a table

(D) Concentric curriculum (i) A box on the table
(iii) Smgpmg a rolling ball
is i oal of science
491 Whatils Raeiprers 8 Identify the positive exemplars.

teaching ?
(A) Memorizing scientific facts (A) (i) and (i)
(B) Preparingstudents for scientific careers ® O

i i iculum
(C) Completing the science currictt (© () and )

(D) Developing scientific literacy and

critical thinking (D) (i), i) and (i)

714 1B

145, i i i
Whll(f preparing a unit plan, teacher asks 4
question - What to teach ? Identify the most
suitable answer to this question.

(A)  Objective

(B)  Content

(€1 Learning experience

(D} Evaluation

146. While teaching about Acid rain, a Chemis

teacher spontaneously talks about the
of Marbles in Taj Mahal, Here the teach:
using :

try
uin
er is

(A] /Systematic correlatinn

4

(B)  Planned correlation

(C) Deliberate correlation

(D) Incidental correlation

147. Preparation of Sulphur dioxide can be be
explained using :

{B)  Tree chart

251

(C) Tabular chart

(D) Time line chart

=

148, Which among the following Mill's Canong

can be used to explain the discovery of the
planet Neptune ?

(A)  Methad of residues

(B} Method of difference

149,

(C)  Method of agreement

(D} Method of concomitant variation

Who is considered the 'Father of Indiap,
Space Program’ ?

(A) CV. Raman

(B) Homi |. Bhabha

(C)  Vikram Sarabhai

150.

(D) Satyendra Nath Bose
&

The highest level of cognitive

i domain in
Bloom's taxonomy is -

(A) Knowledge

(B)  Evaluation

(©)  Application

(D) Comprehension

~olg-
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